A0 4 B

o) | T e S /KR 2 26
EKERTHE (£D6)

B R B
il B k== S Gl S5



O S S
TFE - R - A0 Biks AL Kok i &
1. FrRAfiET
(1) PO A58 T
1) T#ir LT nf 1, 444. 000
2)FRPZY v FEUf+L nf 1, 444. 000
3) RimtE L nf 1, 444. 000
(2)Kk#kET KB L
1)KkkE L %A 7B.C & HT 20. 000
2)KkET 2 A 7D & T 32. 000
(3)Kk#kxT BER TR
1)KKkE T 2 A 7D & T 35. 000
2. fxL
(1) ks T BERIX ]
1) HEKR v 7SR B BER & 1. 000
2) HEAK AR v 7 iR 71 =R AR & T 1. 000
(2) b AR L KEFSTHL
1) b RV BRI KEFSTHT & T 1. 000
2) bR OVBLEE R REFSLHT & T 1. 000
3) b RIVRER Y — RIERL KEFSTHT & T 1. 000
4)H—FL— L H&E = 1. 000
5) b2V R KEFSTHT & T 4. 000
6) b R KEFSTHT & T 1. 000
7) b ARAE KA KEFSTHT & T 1. 000
8) b L— il REFSLHT & T 1. 000
9) EXE IR KEFSTHT X 1.000
(3) b o AR T BERSLHL

2/3




r = #H = %
TFE - R - A0 Biks AL s i &
1) b RV BRI BERNLHT = 1. 000
2) b VELERR BERNLHT = 1. 000
3) b RIVRER Y — RIERL BERNLHT = 1. 000
4) b RV R BERSIHL v 1.000
5) b g L— il BERNLHT = 1. 000
6) EXE IR BERNLHT X 1.000
(4) ke KB Etor BHEKES
1) K7 B &t K ES X 1.000
S e Egkﬂf‘/j’ (Bt BHEK =< e
(5)Let
1) @R A 36. 000
2) A% L LERET EJE S LBUKH v 1. 000
3. Z0fh
(1) i
1) ki@ (FE kD)
R
(RS A i 1% KEFSTHT ton 57.74
(RS A i 1% BARANLHT ton 59. 35
(2)%B#
1) k@ (FE kD)
e #
B =X 1
PR ELAKH 2 REFSLHT = 1. 000

3/3




